S Fn 5 & E g LT
N
&xOF  &E

X4 1B AR R R SR

ARREFEIL. BEAOREATHEC SO TER L 2R EHRED
—iE, RV ETEDOSEL LTERRTI2HDOT, K E, oh
R THEOTIIH Y FHA,

THSEE TH HALfff 86

FLIRET B LA ERMERR




w o . 3
X B TIEE AR FE
T F& 7| AT BT | S| H i & - o =
A OE B
; HIENRE
3RS "
W o B NERE
R <
HIENRE
FTAE ©
v AR
SRR TR e
(1)
T HE A2
EEENRE
TR .
=P HENRE
T Ve B e
ETRNRE
e da T "
o R R 2 .
(2)
R
~ (3)
= OB .
=(1) X Z O A
: %
S s T
=(1)+(2)+(3)
(5)
TR A "
=(4) X — iR EE =R
SRS
10%
2 B 2 A
s TR

LR

Y

M




EAMIE i

R M g)
M (&)
N = H1ENRE
% I ¥ " HAr | % & Hi it & #H i BB
e & °63 :
R EER
HAEZER | kn 652. 1 BRI IE R 2
PEAEA (F7)
H A HiE km 33.3 B AR D B R AT B 3
ALK (fE4)
EEANEE G
Lo T




SR A

N MR
M (EE)
N = o AR
% woom o || % ® | owm @ wm | m om |wwms
R % 543 4
AR
FrFesl (FAY - LAY
i AR 3 20 5
EH A bR
GELIE
sk | % 50 6
AR
EHEAER
FLoowR




4 M U5)
M (&)
N 3 3B AR E
% g ¥ " HAr | % & Hi il 4 #H i 9| HRR S
WS 1 7
1) %44
| 1 8
2) W
WS 1 9
3) Fe e
EEANE
Lo T




& N0
ERCED)
2! AR
4B ®oom || % R | W %
SR = °63
op - T - Bt

ELEEAMR# G

LR T



F‘ — I _a N
I A
o M 5)
M (&)
N = 55 AR
4 N Vi B HAL | K " H ff & % T P HAEES
1500cc H 26 T4 PAUERER] 11
FA hoNVEERE
[ER23- &
FLoomg o T




= PITE S o R

/N M U5)
M (&%)
2! 5 6 AR
oW AR LR &  m | W O |uEEs
Y TEZER12m A H 18 LT A 12
B AT EE HE R
VL]
[ERES- &
LM T




P I
ol
4 M U5)
M (&)
N = HTENRE
4 N Vi = HAL | K & ff & % i o HEEE
B A 40 A iR ¢
AIEFHEEB
X 2 AN
= 1 13
PREERER BB
2885y
1.5t H 20 oo sBRBKl 14
k7 v 7 Bl
B
[ER23- &
FLoomg o T




ot

WOf S
N o A H HArl B Af B A o X B B - FE
M [l B 4.30 X M/AN = M (1008570
g NG Hffi C 5.90 X M/A = M
1| FRIAEER p-s Bk B 2.10 X M/A = &3]
B M
Bt / 100 = H1EH7=D
M | AR AT B & — BT 0 2 4 CTE/T 5
N g 1.00 X H/AN = Hl1EH7=0
BRI () e T - i
2 BAHHEEZRRL km Al M
(1 BB EENE)
S 180km (30km/hX6h) . EEHEPI2 h
W2 / 180 = H [1km& 7= 0
BB e 1.00 X /A = i
BRI (FE5) 0 7t MliE&HY
3 HAHIE km (1 H B0 EENE)
=&t 18km (3km/hX6h) . EEHEEI2 h
BE / 18 = M [1kmd> 7= 0
M50 B 6.80 X H/A = M 1100587 v
. Fe il C 7.20 X M/N = M
, SR " O e 9.507% = ]
BHERR
K (PR - LAY 7t M
Bt / 100 = H1EH7=D
M50 B 13.80 X H/A = M 1100587 v
. Fehf C 14.20 X M/N = M
- SR = 0 i 18.80 X M/A = M
BHERR
GETE 7t M
Bt / 100 = H1EH7=0
M50 B 4.10 X H/A = M 1100587 v
. Fe il C 4.30 X M/N = M
SR " O e 550 % = ]
BHERR
BAER &t M
Bt / 100 = H1EH7=0
M50 B 5.20 X H/A = M 1100587 v
. Fehf C 4.00 X M/N = M
o | EMRB I O g 17007% - i
FEM AR it M
il / 100 Hl1&sH7eb
A | = R Eh 0.50 X /A = M |rertsesssimmeno nmss
7 Ted e 0 Hibf A 0.50 X M/A = M [p3-2-1
1) %] 6 B 0.50 X m/A = M
) M
R EXE=s 3 0.50 X m/A = F | e
g e il 0 HHEhA 0.50 X /A = [ |eetsessmmmmnnes
2) H1f#] F2hh B 0.50 X H/A = F |p3-2-1
) M
| = R ER 0.50 X M/A = M |t nmss
9 Ted e 0 Hibf A 0.50 X M/A = M [p3-2-1
3) Itk Hibf B 0.50 X /A = s}
) M

Lo B

1.

0]




Bl & H O F
N o il H HAL il B R o i A - FHE
| = L Eh 0.70 X M/A = 10055721
RRAE 0 Fefifi A 0.20 X /A = M
fERk - FREE - KRRy B O i ]
10 H Fehl C 4.80 X M/A = A
g 3.00 X /N = =]
7t M
FEF / 100 = M lixs=0
M H Y720 BEReE - 3.6 h
T4 IR VEEE 0 HYY 3.6 X 2.6 0/h = 9.36 0 |mkE
11 H 9.36 X M/e = M | it
AR (h) 3.6 X M/h = M [4Rost 2
Mtk (H) 1 X M/A = sl FEPEET
il &3]
YRR 5.0 h
AT EX R E 0 I 5.0 X 4.2 0/h = 21.00 0 |mEx
VEE AR 12m AR5 21.00 X M/e = M | i
12 R H AR (h) 5.0 X M/h = M (s
Mtk (H) 1 X M/A = sl FEPEET
R 0.62 X M/N = 8]
7t M
M T HER 4 X M/t = M [#m rs. 74
R B SR 0 T AT ok 2 X m/& = M
(23t5) RFIM 10 X M/& = il
THEMFER X4 h7—a-v 40 X m/ME = M
AR X2 N F R CEAEL M
ENEILA X 10
13 h7—a-v X 40 & T HE R 4 X M/fa = 8]
IR 2 X /6 = M
R 10 X m/B = i3]
f7—a=y 40 X M /e = M
A F (1H Y4720 EEED M
BT &R 20 X M/B = F3 | b7y 248 A %
& Ft CGEARE+EERXA) = M
M H Y472 0 EERRER - 4.7h
N v 7 EEE 0 LS 4.7 X 2.70/h = 12.69 0 |wEx
1.5t 12.69 X m/e = M (i
14 JELRH H Mt (h) 4.7 X M/h = M (e
FEMEEE(H) 1 X M/B = ] ez
= —BE AT 0.58 X M/N = M
il M

1.

FLoWE T




